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Read each question carefully. Give exact answers. You do not have to rationalize
denorai.nators pecnflca%ﬁted ircle your final answer.

1. Find the exa%t value of the following. ) 2. Find the exact value of the following.

[

a. sin; r — a.sin 270°
2 @) - |
b. cos ™ , l b. cos —225° \
— 19 ——
2-
\YZ /\ c.sec315° (
c.tan— " ' (2-
Vs I )
1 e300 3 d. csc 420 i
2 !'» / {{, \ 6
) ‘/ Q \ P' K e.cot—135°
e.csc45 \/Z ‘ ,\ v |
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|
. 2Tf ” z
3. a. Find the exact value of cos < 2 @N
. 71T A
b. Find the exact value of tan - - I - \ —
. . 7T
c. Find the exact value of sin —. \ ’m ‘
6 _= Sa
2 -
/\
d. Find the exact value of cos (z—ﬁ) tan (7—H) — sin (7—}:) ) ’b
3 4 6

Write the answer as a single fraction with a rationalized denominator.

G)D(z)=742= (0
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4. Given that sinf = —>and @ is in Quadrant Ill, find the other 5 trig functions of 6.

a.cosf = % d-cscd = 5/3

b.tanf = _= e.cot =
7 3z
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5. Given that the terminal side of an angle 8 passes through the point (-1, 6),

a. Draw a picture depicting the c. Evaluate cot 3.
reference triangle with accurately . \/
labeled sides. (0 (ﬂ

d. Evaluate cos f5.

KS

e. Evaluate csc 3.

b. Find the length of the hypotenuse. 6}
VoSG <57 v
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6. Giverf= =,
0
a. Convert 6 to degress. 2
.8 =
= ~ 200 -
b.In vgqu rant does the terminal side of 0 lie?
c. What is the degree measure of its reference angle? e
d. Draw a picture depicting the reference triangle with accurately labeled sides.

33

e. Find the exact value of csc 6. 2

2

-
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7. Given that sec 14° = 1.0306, csc 14° = 4.1336, and cot 14° = 4.0108, find (without using a
calculator),

a.sec76° = QSQ\*’ *;ﬂ'_ \ 539
b.csc76° = S - \L}' ’f\ 030y

cot 3FL = —4.010%
esc|AF ~=4 1%,
wrie o

(@s!%[ﬁ(‘ S

o&' 5€C 656 ¢
“cos |4 =[-
sec 4°

b
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8. The angle of depression to the bottom of a slide is 60°. If a child slides down at a rate of 5 feet per
second, and it takes 2 seconds for the child to reach the bottom, what is the vertical height of the slide,
in feet?
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9. A wheel with a 24 inch diameter rotates at a rate of 5 revolutions per minute. What is the linear

speed of a point on its rim in feet per second?

r=2 N L= 5Srev minj\‘:'?'ﬁ;/s

e
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10. Find the exact measure in centimeters of the intercepted arc of a circle with radius 25 centimeters
and central angle 45°. —_—

s=Tem (=25cm; 6’%‘50
S=00=25cm: ay

V60" -

4

A

LN\
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| 5=2m 5 D2t0cev; =7 in
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2. 20,0.:?/7 \‘/‘%ws

\| = < M'\/\r\ |
(= 200 «290-2400™
po= 1rev/2 ks

V=Rt = 2400mi [ 2T
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